2023 204 LEHSH| 250 =Dt
2N 2505
I 2o0=RE(2L2Z/ 25 0E)
o©elr ZS0I=XIA (crel: M)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
EENE 13,150,707 14,637,046 A 1,486,339
= 2,713,850
p) 1,049,556
[ 1,998,585
Al 7,258,716
= 130,000
23RS (2L 2B/ 25H012) 5,252,331 5,108,620 143,711
= 23,350
p) 659,846
[ 759,387
Al 3,679,748
= 130,000
230z 4,194,851 4,188,251 6,600
= 23,350
p) 659,846
[ 759,387
Al 2,622,268
= 130,000
SE2SNSEA 279,000 356,800 AT77.,800
307 2I2H0I A 279,000 326,800 N47.,800
02 QIFAAAIIE X 259,000 306,800 N47,800
OgEsi 2(312, MDA S)(BXS 80%)
27,500,0002 % 141%80/ 100 22,000
Oz MB2E ALY
60,000,000 %14l 60,000
OLAST ZSAHAMWS| &I} S X2
7,000,000 % 14! 7,000
ORI AIRE LZIALY 40,000
—GFE J|EXR U2, A7, HEIAIA(ZZS 80%)
50,000, 0002 * 14180/ 100 40,000
OYFNESY M4 U DAY
20,000,0002* 14! 20,000
OUZSEAIS LHDRBRE L2t
40,000,000 % 14! 40,000
O¥F 28U AAI2FAR2 BREALY
70,000,000 x 14l 70,000
04 QIZFHAIAIRI B X 20,000 20,000 0
O¥x dAlele st
20,000,000 * 14! 20,000
SSH0ISCHA L ALK 379,810 322,720 57,090
301 LEEAS 4,050 1,260 2,790
11 #AFAIHIXI2I2 4,050 1,260 2,790
O30 £8AF ZATH OHIE 4
90,0002+ 15233 4,050
307 2I2+0| & 375,760 321,460 54,300




S 25H0sD
HH: 250STS(23L/235H00S)
el 23t0l=XIR (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
02 CIRFHAARIE X 109,000 109,000 0
OZ0IAY SEXA(SES 80%)
13,750,00021% 141%80/ 100 11,000
OS30IEEH S0l SBSXH(BEXS 80%)
25,000,000 141x80/ 100 20,000
OYZ=NLB R B AIY XA (BXS 80%)
31,250,000 141x80/ 100 25,000
OYF=20I0HE 2SS (EXS 80%)
6,250,00024% 141%80/100 5,000
OYFARIQAAER A XIR(EXE 80%)
25,000,000 141x80/ 100 20,000
OSSIEEH ALK (ZES 80%) 28,000
—HFBUSAL 2,500,0002*14{80/ 100 2,000
—Z=RD} 195 L2t
2,500,0002% 141%80/ 100 2,000
—AZAIQI T BHGHE 28|3
2,500,00024 % 141%80/100 2,000
—=H 73 2SES0IX L2t
2,500,00024 % 141%80/ 100 2,000
—gZ=25} w2t
13,500, 0002 % 141%80/ 100 10,800
— 28} 477 Y2t
3,000,0002% 141%80/ 100 2,400
— AL 167 Y2t
3,000,00024% 141%80/100 2,400
—IZAIE 137 w2t
2,500,00024% 141%80/100 2,000
—Ot=28t SOIX| w2t
3,000,00024% 1A1%80/100 2,400
03 RIZIEHHIE H2YHIEE 45,000 42,000 3,000
OB2015 IXX3 2 NA(2X8 FA)
45,000,0002%14] 45,000
04 DIZFSHAIAIRIE 221,760 170,460 51,300
ONI138] 9=-2% 0|8 NRMN(BXS 80%)
8,750,00024 % 141%80/ 100 7,000
OFZ QIBAE 2AWS|(EXS 80%)
20,000,000 *141x80/ 100 16,000
02023 ZZ=0|=0PHHI0I(BXS 80%)
25,000,000 *141x80/ 100 20,000
OX= OtS0I=S2H(EXS 80%)
10,000, 00021 % 141%80/ 100 8,000
OYZ0z HEAM(BES 80%)
20,000, 0002 141x80/ 100 16,000
ORHMLAY S3BAF NI (2XS 80%)
25,000,000 *141x80/ 100 20,000
OSEE S513AL NI (BXS 80%)
25,000,000 *141%80/ 100 20,000




SH: 2302
Hu: 2HUSNE (2L 2Y/250%)
Hel: 2SHul=sXR CERED
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
GEERSEr == [EEE=N))
9,000,000 141%80/ 100 7,200
OSSUETH Al K (BEE 80%) 43,560
—HI13 AN HANLS LTEHSD]
5,000, 00021 141%80/ 100 4,000
—2M0lE HEUEE 2F B
5,000, 00021 141%80/ 100 4,000
—DOHAES PES 98t 2818l
5,000, 00021 141%80/ 100 4,000
—AlpIS 98t 809022t
3,750,000 141%80/ 100 3,000
—RI34s FSETEH
3,750,001 141%80/ 100 3,000
—2023 Alpigt= =ME
5,000, 00020 141%80/ 100 4,000
—HSTHXE S0t
5,000, 00021 141x80/ 100 4,000
—2023 AIRIDH BBt ISR H A
5,000, 00020 141%80/ 100 4,000
—2EONE 23
2,700, 0002%1 4180/ 100 2,160
—AlRIT} BHBS Al H23
1,750, 0002%1A1x80/ 100 1,400
—gi23] 025
2,500, 0002%1 4180/ 100 2,000
—S=0IEEIIEH
2,500, 0002%1 4180/ 100 2,000
= EINLIBJt=Y1]
7,500, 0002%1 4180/ 100 6,000
OBXLE Mo HO|(2XS &)
18,750, 0002%1A1x80/ 100 15,000
02023 SFAI2S SIBH B2 SOU5I(BES 80%)
6,250,00021 141%80/ 100 5,000
02023 H= M ZHIIQHM(EXE 80%)
30,000, 00021 141580/ 100 24,000
OOZI0l BAZ B9} HP2(PE2)(BXE 80%)
25,000, 00024 * 141580/ 100 20,000
SoEdeRA 2 A 36,660 196,660 160,000
201 Zere | 11,560 31,560 220,000
0T AF=2elt] 11,560 11,560 0
OPCY, QST S RE B APEE
56,0002* 102 560
OgaHLI| 28 AR
600,0002/+53] 3,000
OYNYI| =AY 25
800,000&* 103 8,000
203 eIl 22,100 22,100
CREESSECESS 22,100 22,100 0




SH: 2802
HE: 25l0|STE(2HUBY/25H02)
Ee: 23tol=XY (crel: M)
SN - BB - S(3H) - MISAY - BAS ollAbol ] Hm=2
O=s=1= Feaead 22,100
—2HENR EQAE HOAY ZX
7,000,000& * 1A 7,000
—25i02 2@ 42 =7
3,800, 000& 1A 3,800
— s 2 e =7
2,000,000& %14 2,000
—22FE Y 22 =X
3,800,000& 14! 3,800
—HSTE P Y2 =3
1,500,000 * 1Al 1,500
—=TYe P e =3
2,000,000& x 1A 2,000
—LoIFOl B 9 =7
1,000,000 14! 1,000
—OIEHAE Y Y2 EX
1,000,00024%1 4! 1,000
308 XIXISHMSOIA 3,000 3,000 0
07 XEXISHH2IRE= 3,000 3,000 0
OUstol= o-E Al 82l3] XXISHHZH BE2
3,000, 0002%1 4! 3,000
(Z) X 25tAIEEI2H 15,000 15,000 0
= 4,500
Al 10,500
307 S12+01 A 15,000 15,000 0
& 4,500
Al 10,500
02 BRIZSAEEE 15,000 15,000 0
OXIi2s AR 28 KA
15,000,000 1Al 15,000
= 4,500
Al 10,500
NLSSRAIEESKIE 30,000 100,000 70,000
307 QI2t0| M 30,000 100,000 70,000
02 BIRIZHAIEE 30,000 100,000 70,000
ONLSERAAL BE NR(SES 90%)
33,333,000+ 141%90/100 30,000
(Z)St=2ZAF X2 46,701 46,701 0
= 23,350
= 7,005
Al 16,346
307 QI2+0| M 46,701 46,701 0
= 23,350
< 7,005
Al 16,346




S 25H0sD
M 230 STS (23U 22/ 2350
el 23t0l=XIR (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
02 CIRFHAARIE X 46,701 46,701 0
O340k GIEUAF XI
46,701,0002 14! 46,701
2 23,350
[~ 7,005
Al 16,346
SHSE2U3 20,000 20,000
307 BI2HOIA 20,000 20,000
04 BIRIBAIAIIE X 20,000 0 20,000
OSPSs I8 E20i3|
20,000,000 * 14} 20,000
(S USESEN 41,020 41,020 0
[ 9,040
Al 31,980
307 BI2H0IA 41,020 41,020 0
< 9,040
Al 31,980
02 RIZIHAARIE R 41,020 41,020 0
OB NSSHSEHA
41,020,0002 14! 41,020
[ 9,040
Al 31,980
A B2 SR 70,000 60,000 10,000
307 EI2tOIA 70,000 60,000 10,000
04 DIRIEHAAIIE X 70,000 60,000 10,000
ORI373| ABH25HH| 70,000,0002%13] 70,000
BSEEEm=E 22,000 12,000 10,000
= 2,000
Al 20,000
307 GI2HOIA 22,000 12,000 10,000
< 2,000
Al 20,000
02 RIZIHAARIE R 22,000 12,000 10,000
O2ststn 29 X
11,000, 00021 %274 4 22,000
< 2,000
Al 20,000
PNEES 70,000 60,000 10,000
307 EI2H0IA 70,000 60,000 10,000
04 BIRIBHAIAII B X 70,000 60,000 10,000
ONI303| AMUIESH(EES 80%)
70,000,000+ 13| 70,000
(D)EENARY 5,500 5,500 0
< 1,800




2N 2st0=t
H: 250STS(23L2Y/2351012)
&©e: 25X (chel: & 2l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Al 3,700
307 212101 A 5,500 5,500 0
[ 1,800
Al 3,700
02 CIFEAAI X 5,500 5,500 0
Osgud 29 5,500,000 %1 Al 5,500
[ 1,800
Al 3,700
29| QAAEet A 120,000 90,000 30,000
307 212101 A 120,000 90,000 30,000
02 CIZFEMAIIE R 120,000 90,000 30,000
02023 BS| RAHAER} X
120,000,000 * 14! 120,000
X=Est SoHTE= 2 KA 320,000 450,000 130,000
307 21210/ & 320,000 450,000 130,000
02 DIZFAMAIEE 320,000 450,000 130,000
OIS0l 2EI= AIZ7 TEIS0{0] &S0,
N AL 250,000,000 14! 250,000
ORNZ PEAIH 2 ES80%)
87,500,00021%141%80/ 100 70,000
() Ea2eHs2Z0I2H 945,120 608,400 336,720
p] 659,846
[ 85,582
Al 199,692
307 212101 A 945,120 608,400 336,720
p] 659,846
= 85,582
Al 199,692
02 CIZFAMAIEE 945,120 608,400 336,720
OSE2510/2 Al
945,120,000 * 14! 945,120
p] 659,846
[ 85,582
Al 199,692
SEES! LIRS 14,000 14,000 0
307 21210/ & 14,000 14,000
04 DIZFAATAIE X 14,000 14,000
OXZ SHULY Mz (ZZE 80%)
17,500,00024% 141%80/ 100 14,000
BEEREEEEENE 60,000 60,000 0
[ 18,000
Al 42,000
307 21210/ & 60,000 60,000 0
[ 18,000




SH: Sa0IED
I 2s0i2AE(22BY/28002)
Hel: 2SHul=sXR CERED
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Al 42,000
02 QIRHEAIAIHE R 60,000 60,000 0
OBlBiMM MRS|S[3] L BAIMYAR
60,000,000 *14] 60,000
& 18,000
Al 42,000
HSCISZD|THSI ALK 10,450 10,450 0
307 21Zt0 & 10,450 10,450
04 QIZHHAIAIRIE = 10,450 10,450 0
OL=0U=FI|HE] HAIKIR(EES 80%)
13,062,500 *141%80/100 10,450
(Z)Z=dHloptaol2g 18,200 19,500 21,300
L= 5,460
Al 12,740
307 212t01 & 18,200 19,500 1,300
& 5,460
Al 12,740
02 QIRHAAIAIEE X 18,200 19,500 21,300
O&=4Hd|otiin 2
18,200,000 * 14! 18,200
L= 5,460
Al 12,740
Or=olor=resl X 16,890 0 16,890
201 LEt23H| 15,000 15,000
03 A= 15,000 0 15,000
Oot20100] w2sl 29
15,000,000 * 14! 15,000
301 LBtEESF 1,890 0 1,890
CEEEET] 1,89 1,89
OOH20I08 |25 &ILX it
90,000 *7H*3 1,890
1480IEAFI 29 160,000 160,000
307 2I12t01 & 160,000 160,000 0
05 QI”IRIE = 160,000 160,000 0
OMgOIEAT0f Fieter)
160,000,00021%14! 160,000
(Z)E==RHEIEBUHISEEAY 28,500 28,500 0
& 6,000
Al 22,500
307 21Zt01 & 28,500 28,500 0
& 6,000
Al 22,500
02 IZHBAAMHEE 28,500 28,500 0




S 20D
DM 2s(SE(2HUBR/2302)
Hel: 2SHul=sXR CERED
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
OZ==ERHU=SEEHEH EA=2AMSXA
28,500,000 14! 28,500
& 6,000
Al 22,500
(Z)AHMAEET MS2SEA 30,000 0 30,000
& 10,000
Al 20,000
307 2120l ™ 30,000 0 30,000
& 10,000
Al 20,000
04 QIZHHAIAIHE = 30,000 0 30,000
OABARNH & SESALDIEA
30,000, 00021 14! 30,000
& 10,000
Al 20,000
(Z)HERS0=HXI A 60,000 60,000 0
& 18,000
Al 42,000
307 2I1Zt01 & 60,000 60,000 0
& 18,000
Al 42,000
04 QIZHHAIAIE 2 60,000 60,000 0
OYFME2IET
60,000,000 14! 60,000
& 18,000
Al 42,000
() 2SN E LA (FAL) (HBAFY) 740,000 730,000 10,000
= 429,200
Al 310,800
308 XtXISHHMISO0IE 740,000 730,000 10,000
& 429,200
Al 310,800
11 3I12SOHEHE A ELEAIS ] 740,000 730,000 10,000
OR3=3 N Z LAY
740,000,000 14! 740,000
= 429,200
Al 310,800
() 2SN SE LA (RH2) (H BHAFY) 10,000 20,000 A10,000
& 5,800
Al 4,200
403 MXISHMSAHE01H 10,000 20,000 10,000
L= 5,800
Al 4,200
02 BI1 2SS NEEAS ALY 10,000 20,000 210,000




2N 2505
I 2o0=RE(2L2Z/ 25 0E)
Hel: 2SHul=sXR (CHol: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
CEEEENEEEINETONS)
10,000,000 * 14! 10,000
[ 5,800
Al 4,200
BNEEEEERE] 142,000 132,000 10,000
[ 12,000
= 130,000
307 2I2H0I & 142,000 132,000 10,000
[ 12,000
= 130,000
03 DIZICHH B 2YHIE X 142,000 132,000 10,000
Ooxgesta 294 X
142,000, 0002414l 142,000
[ 12,000
= 130,000
(E)pn2sngses 20,000 19,000 1,000
[ 5,000
Al 15,000
307 2I2+0| & 20,000 19,000 1,000
[ 5,000
Al 15,000
02 QA AAIIE X 20,000 19,000 1,000
Ofnestngstes)
20,000,000 x 14! 20,000
[ 5,000
Al 15,000
BEESIENEEN R 350,000 350,000 0
[ 100,000
Al 250,000
307 2I2+0| & 175,000 100,000 75,000
[ 50,000
Al 125,000
02 DIFAMAIRIE R 175,000 100,000 75,000
OXZLZ HISX 23012 ZAAL (24
175,000,0002 % 14! 175,000
[ 50,000
Al 125,000
401 A& HIL 20| 175,000 250,000 75,000
[ 50,000
Al 125,000
01 Al&H] 175,000 250,000 75,000
OFZE HISX 23012 ZAA(RH2)
175,000,000 * 1Al 175,000
[ 50,000




SM: 230l
M 23 0SXE(2FL2AY/25100)
el 23t0l=XIR (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
| Al 125,000
(D)RXZ 2402 N 100,000 0 100,000
[ 30,000
Al 70,000
307 BI2H0IA 100,000 0 100,000
[= 30,000
Al 70,000
04 QIZFSHAFAIRI B 100,000 0 100,000
ORXZ 2L XA
100,000, 0002 *14! 100,000
[ 30,000
Al 70,000
BENEEREESINE 34,000 0 34,000
[= 10,000
Al 24,000
307 BI2HOIA 34,000 0 34,000
[ 10,000
Al 24,000
04 QI2FSHAFAFI B 34,000 0 34,000
OalZ HEX ste=m
34,000,000+ 14! 34,000
[ 10,000
Al 24,000
EEWEEE] 278,480 210,369 68, 111
HEAAHED 2 278,480 210,369 68, 111
101 124H] 61,110 50,129 10,981
SIENEEN=E] 61,110 50,129 10,981
OMEZ IHE oY L T2 2% 22X
76,9602 x2%x247 38,019
OMESZ IHE oH L T2 2% 22X =544
76,960 x2 x50 8,004
OMEZ IHE oy L Z20Y 29 22X
IR 2EIISS 76, 96004*2'34*12%' 1,848
OHEZ Hietes 29 L orFpe| 221 212
76, 96O°4*2°4*20%' 3,079
OHE Hiet24 29 o ormMpe| 22X =544
76,9602 x2 2 *42 616
OMEZ Hx = ool
76,960 x5 x4 2A+53] 7,6%
OB gl = o120l
76,9602 x3H *22 *43] 1,848
201 2B 162,370 152,240 10,130
01 At22eld| 26,500 27,340 ~840
oY=z X7 5021%30, 0000H 1,500
OFAl A2BE 722 700,000 %1 Al 700




2M: 230=n
A 0= E(SL 2/ 250=)
Ee. 2StAlE 22| -
(ol &)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
OFAIE AAHIH ¥ MAIEEXZ ME
1,000,000 * 14! 1,000
OXMgx E22 H& 1,0002%5,0002 5,000
OdA E2 HHiH ¥ =8 WM&
60,000&*3&+53| 900
O333t&A EX FL
20,000& 108t Ax 12 2,400
OMYD| E&H SF(100L) &
1,400&x100&+ 123 1,680
OME2 A2 HHER S ADE 7L
170,000 %55 +23| 1,700
OME2 &2 29 S3HE Xz
500,000& *x20 A+ 1 1,000
OXMg2t Hte=2 29 g4 7
1,000,000 14 1,000
oM7L 500,000 % 1Al 500
OXM&2 SHIOIXl 22l
400,000& 12 4,800
ONMgz )| ez 35,0002 %122 420
OME2 Hidl gE= 100,000 %122 1,200
OMez 33 29 2,460
—ES NA 50,0002/%23] 100
—2Yes L Y X3
70,000&*13H*23| 1,820
—2Y9/8 oyl
90,00024*3%*23| 540
OLR S 3IE 242 20,00024% 122 240
02 3324l 135,870 124,900 10,970
O 22 4,000,000 %12 48,000
OaxE 23 150,000 %122 1,800
ON== 60,00021% 122 720
OFJ| oHEPR| I 242
650,000&x12& 7,800
OFI| HIlBAMZE 1,000,000 13| 1,000
OSZIIAE sX2el
400,000&+12& 4,800
OLeHelAld sXl2e| CHH
500,000&x12& 6,000
OAYAIE QIR BR| H 242
450,000& 12 5,400
OaUBINE &8 =42
500,000& *23| 1,000
Otz 2B A =25
300,000&*23] 600
OXIote =EZBA =25
300,000& 13| 300
OMEZ A= 15024%3,600 *53] 2,700




A 230zt
HH: R E(SL22/25H0z
tel: 2stAlE2ie] (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
ONMEZ Al Histze 2 tHEA
10,000,000 *13] 10,000
ON&E2 28 HA 3,000,0002/%13] 3,000
O=283 A 800,000 %23 1,600
Otz =83 L 800,000 *63] 4,800
oY) R
100, 00024 *52CH*13 5,200
Od3x HA 150,000 %13 150
OAlIE RXE2=(15¢ 0lat)
2,500,0002 43 10,000
Oxg2t 34 9| 21,000,000 *1 Al 21,000
206 =4I 8,000 8,000 0
01 M=Hl 8,000 8,000 0
OFII, JIHEY 228 7
100,000&*105+23 2,000
Og=ad MM & 7
100,000&*55*43] 2,000
O== AlHIE gt 7
2,000,000 14 2,000
OMgZ2I 29 Had|
2,000,000 * 14 2,000
401 Al&HIZ 2 0HY| 30,000 0 30,000
01 Al&HI 30,000 0 30,000
O0tsHE 22| L RXE+
2,000,000&*53] 10,000
Ozt oHHE M 2 AX
10,000, 0002 *2IH & 20,000
405 RHAHF S| 17,000 0 17,000
01 ML SZFFHEH| 17,000 17,000
O=R0! AFHXHED| 2¢
17,000, 0002 *1CH 17,000
=222 X 779,000 710,000 69,000
=AU 29 X2 779,000 710,000 69,000
207 AN 10,000 10,000 0
01 H22EHH| 10,000 10,000 0
OL=2s 22T LA I}
10,000,000 14! 10,000
306 £%12 769,000 700,000 69,000
01 E¢3 769,000 700,000 69,000
Og==st2&Z M 24
769,000,000 14! 769,000
22 D18 BE ¥ 2e|(23 Y22/ 251H0=) 452,677 1,460, 196 21,007,519
PN - 452,677 1,460,196 1,007,519
EIFAEESL 222,457 60, 196 162,261
101 2124d| 46,961 0 46,961




2N 2505
HI: 2R OIE EE L 22| (2L 2E/25H01S)
SR 2 ARONY (chel: & 2l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
04 JIFRI22IEES 46,961 0 46,91
O¥F 2UAAREIH2I ZAAIY SATH oY
76,9602 x5Hx22 63 4,618
OZF 2HSEAREHR 22X
45,8009 *2%x247 22,626
OYZE 2MAAREIH2| 22K =54
45,8002 x2H x50 4,764
OY9Z ZUSEARS 2 22X Hilgs2ag
45,8002 2% » 122! 1,100
OO0IAAR 22| & SHFH| 12
57,7202%240 13,853
201 2B A H] 33,520 27,720 5,800
01 AF22t2IHI 17,120 15,520 1,600
OXEIN D 22|2EH
35,0002+ 12 420
OS5I o M2It t2ad
100,000 *8LH*53] 4,000
OS5tAIY 2t M2 A0
90,0002 x82+33 2,160
O&l==8r M= 60,0002 *3Z+33] 540
O35 222 ME L oy
2,0002/%5,0005 10,000
02 2229 16,400 12,200 4,200
Ookst J|EZel ZAAY &M@
150,000 * 122 1,800
OXEA DE S22
5,000,0002* 14! 5,000
OXBINDE M| - AT AIRE
350,000 * 12 4,200
OXNTHA D BIAIAE ALRE
250,000 %122 3,000
O¥F 2USEAR3 12| cotv(SAl,JI|) Q2
200,000 %122 2,400
206 HEHl 500 0 500
01 XHEHl 500 500
OYF 2UAAI2EH ] REAIY B3 257
500,0002 % 14! 500
305 A2 S 7,476 7,476 0
01 HIA 2SS 7,476 7,476 0
ORerZe W EXAZB (& 2)
623,000 %12 7,476
401 AEHI 220 134,000 134,000
01 Al&H] 134,000 134,000
O242A2X| (REXIZI25A32) ALY S3FH|
5,000,000 * 14! 5,000
Og= 2UHI A2 H2l cectv X
3,000,0002 %374 A 9,000




2N 2505
HE: D OlE BE 2 2p|(23Y2Z/250s)
el 2RO CEEEED
SN - B SR(3H) - MBAR - BYS ofl Ao ] HIS2
OS5 (RAX2I2stE2) R =R
MUB2H(FHE) XA
20,000,0002 % 14! 20,000
ONES3I BESX EXIHY
100,000, 0002414l 100,000
SHUHDAIS =8 JHY| At 230,220 400,000 A 169,780
401 AlZHIL 20| 230,220 400,000 A 169,780
01 Al&H] 230,000 400,000 A170,000
OSH AL =¥ 2X0HY
210,000,000 * 14! 210,000
OSHUDAIT FIE 2X 27 L FHIBA
20,000,000 * 14! 20,000
03 Al CHHI 220 0 220
OSHUDAIL FIE 2X 27 L HHIZBA
220,000 * 14! 220
RIAMNEN L S (2L 2Z/23H) 7,314,317 7,939,488 A625, 171
= 2,690,500
p) 389,710
[ 1,239,198
Al 2,994,909
EEESEE] 3,820,217 3,769,688 50,529
= 454,500
p) 389,710
[ 670,828
Al 2,305,179
23 EZE 2 243y 781,847 549,628 232,219
101 Q124H] 13,853 0 13,853
04 IRIMZZ2IEES 13,853 0 13,853
O25HH =¢ sHAAY| e
76,9602 %22 x32*30 4 A 13,853
201 LBt A 109,654 99,788 9,866
01 AF22t2IHI 34,010 24 144 9,866
OS5t sHole At = 2 mst
20,0002 %1007 A 2,000
OS5 IS0 AEAY =
100,000 5293 4,500
O=28HH X2 5|9 EAlnEt
70,0002 %2 *53 700
O23HH K22 519 A0
90,000 *x2H*53| 900
O3 s2ZzD2
1,500, 00024 *34 Ax23] 9,000
O#=&8n 2XARE
70,00024%7,320m *33/1,000 16,910
02 2229 75,644 75,644 0




M 230l
M PIHMEN L HS(2stL 22/ 25HH)
&Pl RS2t s
(crol: mel
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
-/

OS2t MI| - JtA QAN =2

50,000 24607 A 3,000
OR40IE 22192 14,800
—2H0I2 OHRZHIQIZ =A X2
50,0002 %122 600
— 24012 JIRE MR
600, 0002+ 122 7,200
—2H0S E=IE SR ®IIQ2
100, 0002 * 122 1,200
—2ANIS A%EA L MERA MR
400,00024%12% 4,800
—S2H0FS 20| AldT SEAAL
500, 0002%23] 1,000
ORA0IS JIEIIE S22
500, 0002123 6,000
O24URAIT 22|22 4,200
—STHAIAES & 0TV ®I|R3
300, 0002+ 122 3,600
—JlrE ®Hl|ez 50,0002 %12 600
OJIES DIOHOIZHAIEAF 2 Oi2h A CCTV(S 4,
&3 150,000 % 122 1,800
O=sstn =X aIEA Y A%ES M) Q2
400,0002* 122 4,800
O=M2 ®J1e2 50,0002 * 122 600
OQISHNEH REFAIZ |22
300, 0002+ 122 3,600
ONEA AYAIA IR
400,00024%12% 4,800
OBl JI2E MI|Q2
150, 0002 * 122 1,800
OHIZAF AZAIE &R
100, 0002+ 122 1,200
OO0IMAE 212192 8,604
—JI2S ¢ FEA M2
400,00024%12 4,800
R 20,0002% 12 240
—O|AFA R SHHAIAE AIRE
297,000+ 122 3,564
O3 =8 JIEIAIE SXE4H|
1,000,000 *63] 6,000
OsteHE2 &2 120,000 %12 1,440
OIS AR AMI|IQ2
1,000,00024% 122 12,000
Ost=HE 92| 250, 0002 <42 1,000
206 MH= 4| 600 600
R 600 600
OR5HZ=E sHA™Y| 2279
50,0002 * 122 600




2N 235t0sn
HHM: SFEE L MS(23L22/25H)
©Hel: R (CHo: X 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
207 SN 80,000 50,000 30,000
01 ¢IR29H| 80,000 50,000 30,000
OS2l NEMA L &8 g
30,000, 00024 x2A! 60,000
OXHSE a4 512 |=E =4
10,000, 0002 x2A! 20,000
301 YBIEE=2 9,200 9,200 0
14 JIEIE A= 9,200 9,200 0
O2stmzelol ¢ 6,000
—EoE 222t 220l g
300,000 1H* 122 3,600
—YHZ== BIRA Q| A B2lQl &g
50,0002 x4+ 122 2,400
O#c|ge Rxol 44
3,200,000+ 14! 3,200
307 LIZH0I & 23,540 21,540 2,000
02 QIZHHANAIHE X 23,540 21,540 2,000
OZHUZ At XK (BXS 80%)
2,000, 0002 %23]+80/ 100 3,200
OASMS SAF KR (BES 80%)
2,000, 0002 *23|x80/100 3,200
OQJAA S SEAF KR (BES 80%)
2,000, 0002 %23|*80/100 3,200
O=Sd Al N (EXS 80%)
3,000,000 *13]*80/ 100 2,400
OO0IAAS BEAF KR (BXS HOH)
2,400,0002* 13 2,400
OMIIEE 25 L 22(BXS 80%)
743, 7502 % 1224%80/ 100 7,140
Oti==eit SH X (2XS 80%)
1,250, 00024 1JH4*80/ 100 1,000
OS24UZ 2o Ml X (2XS 80%)
1,250,000 * 17HA*80/100 1,000
401 AlEHI L2 540,000 368,500 171,500
01 Al&H] 540,000 368,500 171,500
OS5I e 22| 2 X8
2,500,0002*87H A 20,000
022 25 BaAt
250,000, 0002 %1 Al 250,000
O23HH =HEH| At
60,000, 00024 14! 60,000
OS5 OIRE 22| & SXE2
1,000,00024* 10IH A 10,000
OZANR B4 U FBAEH| A
50,000, 00024 14! 50,000
OAMDtA 248 2X1 0He
150,000, 00024 14! 150,000




SH: Sa0IED
D Saed U Wa(2HUBR/2H)
el FE2sHH2C (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
405 Rt S| 5,000 5,000
01 AL 2EFSHI 5,000 0 5,000
OOl&A R BLrgd] 2e
5,000,000 14! 5,000
HXE=ZSH 2& & EFH| 300,000 200,000 100,000
402 QIZHRHE0| & 300,000 200,000 100,000
01 QIZERHE2 A 2 2 (REMITHR ) 300,000 200,000 100,000
OHIXIE 23 E=AMS(BEEE 70%)
300,000,000 14! 300,000
() XSS ESArY 532,000 806,000 A274,000
& 266,000
Al 266,000
401 AlEHIZ 2 0HY| 532,000 806,000 A274,000
& 266,000
Al 266,000
01 Al&HI 532,000 803,822 A271,822
OS2 IE AL 2
360,000,000 * 14! 360,000
& 180,000
Al 180,000
OS] MXRYE 2 29HA E=IH01Y D]
80,000,000& 14! 80,000
& 40,000
Al 40,000
Og=gn Hdd ==X &
22,000,000 * 14! 22,000
& 11,000
Al 11,000
OLSJ&tA & 20H0| 2SS ALY
40,000,000+ 14! 40,000
= 20,000
Al 20,000
OZLE AL 20H0| SSASE
30,000,000 *14] 30,000
& 15,000
Al 15,000
(2)TSAE B2 FH| 220,000 0 220,000
= 110,000
& 33,000
Al 77,000
402 QIZEXHE0| A 220,000 0 220,000
= 110,000
L= 33,000
Al 77,000
02 I A E X (01X THE) 220,000 0 220,000




SH: Sa0IED
o SENRA U NS(2HLBB/2I)
el FE2sHH2C (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
O3gA HHEEH & a2t didE s
275,000,000 *141%80/100 220,000
= 110,000
& 33,000
Al 77,000
(D)2 erMZL|2 Uixl & &8 703,120 609,520 93,600
Il 351,560
= 105,468
Al 246,092
101 eI44| 700,480 606,880 93,600
| 350,240
L= 105,072
Al 245,168
04 JI12tHIZ2 S E+ 700,480 606,880 93,600
OZAIIE (AN SAAL HEAL RE0IE)
31,840,000&1 22 700,480
| 350,240
& 105,072
Al 245,168
201 et | 2,640 2,640 0
Il 1,320
& 3%
Al 924
01 AFR2teldl 2,640 2,640 0
O2e= U oEFY PY
120,00021%22% 2,640
| 1,320
L= 3%
Al 924
(D) HSAEBEHUIAIY 149,600 144,000 5,600
= 56,000
Al 93,600
402 QIZEXHE01 A 149,600 144,000 5,600
& 56,000
Al 93,600
02 QIR AL S E(OIHTHE) 149,600 144,000 5,600
ORAAL aHAIZE B
80,000, 0002 *14%80/100 64,000
& 24,000
Al 40,000
CHIZAt H=2Y 23
107,000,000 *141%80/ 100 85,600
& 32,000
Al 53,600




SH: Sa0IED
M PIHMEN L HS(2stL 22/ 25HH)
oel: REEsHael (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
()22 0IZ2SHIXI 14,800 14,800 0
& 4,440
Al 10,360
307 2I12t01 & 14,800 14,800 0
& 4,440
Al 10,360
02 SIHBAAMHEL 14,800 14,800 0
O=zatxzolas XA 14,800
— XSS RB TR
8,200,000 *14! 8,200
& 2,460
Al 5,740
—gEespEs
6,600,000 14 6,600
& 1,980
Al 4,620
(D)X WSS 2H2HIXS 36,650 38,840 A2,190
& 10,995
Al 25,655
101 eI244| 35,650 37,840 22,190
L= 10,695
Al 24,955
04 D122 SR 35,650 37,840 A2,190
O=XE23t Sg2e91e X
35,650,000 14 35,650
& 10,695
Al 24,955
206 =4I 1,000 1,000 0
L= 300
Al 700
01 M=Hl 1,000 1,000 0
OEXNZE2H EE2e| FE8dl =235+
1,000,000_4*155 1,000
& 300
Al 700
()RR L DIEBHAL X 4,500 4,500 0
| 3,150
& 405
Al 945
307 21Z2t01 & 4,500 4,500 0
| 3,150
& 405
Al 945
02 QIHABAAMAEL 4,500 4,500 0




SH: Sa0IED
Do 2NN U Ba(2HUBB/2aH)
oel: REEsHael (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OO d OESEA(SH) NS
1,500, 000& #3042 4,500
J| 3,150
& 405
Al 945
(R)HSAE SUTHAIAE 2= 152,000 0 152,000
= 76,000
= 22,800
Al 53,200
402 QIZEXHE20|1 A 152,000 0 152,000
= 76,000
L= 22,800
Al 53,200
02 QI A E X (01X THE) 152,000 0 152,000
O&EAL ETHAIAE TS
190,000, 0002 *141%80/100 152,000
= 76,000
& 22,800
Al 53,200
(2)EW M S 82 AIE(ER) 50,000 0 50,000
= 20,000
& 9,000
Al 21,000
307 2I2t0 ™ 50,000 0 50,000
= 20,000
& 9,000
Al 21,000
02 IHBAAMHEE 50,000 0 50,000
OB WNAZSITHEEAI (LA )
50,000,000 14! 50,000
= 20,000
& 9,000
Al 21,000
(D)TSAHE STHAIAE SXIE4 74,000 58,000 16,000
= 37,000
< 11,100
Al 25,900
401 AIEHIZL 2 CHYI 74,000 58,000 16,000
= 37,000
& 11,100
Al 25,900
01 Al&HI 74,000 58,000 16,000




SH: 23H0E D
Hu: SHNEN L NS(2ILBZ/25H)
el =E St (EERSED)
A EB - SRI(E) - KIRAY - BaS ol v ] HIDE2
ONRSAZ (A, HIZAF, SAA, ZAL
B|AN, AFLMENUTUAIAL RAL4
74,000,00021% 12} 74,000
2 37,000
S 11,100
Al 25,900
(=) HMESTHAS 147,500 150,000 2,500
2 59,000
S 26,550
Al 61,950
307 2IZHOIH 147,500 150,000 22,500
= 59,000
[ 26,550
Al 61,950
02 ERIFAAIRIEE 147,500 150,000 2,500
O=EHs ISMMAIY (HME H3iN2e XJIs
£541) 97,500,00024% 14! 97,500
2 39,000
S 17,550
Al 40,950
OZHA A2 S| HMALR (BS M2t F=A M2t
2HARE 010B]) 50,000, 00084 14! 50,000
2 20,000
S 9,000
Al 21,000
(2)23 M LTAIE Sx2el X 50,000 50,000 0
p] 35,000
[ 4,500
Al 10,500
201 B2 50,000 50,000 0
| 35,000
5 4,500
Al 10,500
02 SZ2gHt| 50,000 50,000 0
OS3HH THHOHA RH2IAI (23HH T XIAIA
Sxz2l) 50,000, 00084 14! 50,000
| 35,000
5 4,500
Al 10,500
(D) E2ANMASUADAHR AU S 120,000 120,000 0
S 60,000
Al 60,000
201 B2 120,000 120,000 0
S 60,000




SM: 230l
H: SSEH L M (252U 22/25HH)
©Hel: R (CHo: X 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 60,000
02 2229 120,000 120,000 0
OBI=o AU ADMH S22
120,000, 00024+ 14! 120,000
[ 60,000
Al 60,000
EEEREENEERE 261,800 330,000 68,200
= 130,900
[ 39,270
Al 91,630
307 QI2H0IA 261,800 330,000 68,200
= 130,900
[ 39,270
Al 91,630
02 CIZFHAIAII B X 261,800 330,000 68,200
OHMIHIRA E#SAY 261,800,000 14! 261,800
= 130,900
[ 39,270
Al 91,630
(2IHARNEELE DALY 39,000 40,000 A1,000
= 19,500
[ 5,850
Al 13,650
201 2B 39,000 40,000 A1,000
= 19,500
[ 5,850
Al 13,650
02 2229 39,000 40,000 A1,000
ONIHIRA 22X Al (8H2oAL) 2e2
39,000,000 * 14! 39,000
= 19,500
[ 5,850
Al 13,650
NASA 2 & 2= 124,400 118,400 6,000
201 eS| 9,400 8,400 1,000
02 2229 9,400 8,400 1,000
OZHMASATAIECIE A5
7,000,000 %14l 7.000
O2UHIHRAZAIE S| I3l
2,400,000 %14l 2,400
207 1N 50,000 50,000
NIEEEEE] 50,000 0 50,000
Oz MAHSA M2t 8 29
50,000,000+ 14! 50,000




2N 230z
M SEWEE L HS(2IURY/2E)
el =E St (EERSED)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
307 21201 A 65,000 70,000 5,000
02 CIFRENAIRIE T 65,000 70,000 5,000
OA+NE SHIZA HUHBIIE(EXS 80%)
25,000,0008%141%80/ 100 20,000
OASMRANIMEl ADHH 2HD HS
30,000,0002414! 30,000
OA4AR SUHS ALOHOIHIDHE
15,000, 00024 %14} 15,000
HESHE X TE (FNLTA £E) 6,000 6,000 0
201 LEr=2g| 6,000 6,000 0
02 229 6,000 6,000
Oz M2 100,000 * 122 1,200
OERED SOIFHIAIAL HH|
400,0008! 1284 4,800
(C)HERFIA YL A 50,000 150,000 100,000
-3 15,000
Al 35,000
307 21201 A 50,000 150,000 100,000
S 15,000
Al 35,000
02 QIFEMAIIE X 50,000 150,000 100,000
OYFol HhSHAISE 22t
50,000, 0008414l 50,000
-3 15,000
Al 35,000
(2) =3 EE| 3,000 0 3,000
2 2,100
S 450
Al 450
401 AIEHIZ ST 3,000 0 3,000
=2 2,100
-3 450
Al 450
01 AlZH] 3,000 0 3,000
OS5 CHAE XIZES FH
3,000,000 % 14! 3,000
2 2,100
S 450
Al 450
Ry e 298,100 87,300 210,800
2 108,400
-3 58,170
Al 131,530
BEEESREEYIE 4,800 4,800 0




S 20D
o SaNRA U NS(2HLBB/2I)
el RS2l (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
& 2,400
Al 2,400
301 LetEdE= 4,800 4,800 0
& 2,400
Al 2,400
14 J|IEIE 4= 4,800 4,800 0
ORZMERL S K&
400,000+ 12122 4,800
& 2,400
Al 2,400
(Z)FREZIHSINEHAL 2,500 2,500 0
& 1,250
Al 1,250
301 Let8&Z 2,500 2,500 0
= 1,250
Al 1,250
14 J|Et2 43 2,500 2,500 0
OS82 SIHHAl XA
2,500,000 14 2,500
& 1,250
Al 1,250
(Z) =2 EOISHAKIA 74,000 80,000 26,000
< 22,000
Al 52,000
307 2IZt0 & 74,000 80,000 26,000
& 22,000
Al 52,000
04 QIZHHAIAIE 2= 74,000 80,000 26,000
O=T& QISEAN XI&
74,000,000 14! 74,000
& 22,000
Al 52,000
(2)0HIRERMUZSHAIL (=AM E HE2) 16,800 0 16,800
= 8,400
& 2,520
Al 5,880
201 ZEt23H| 16,800 0 16,800
= 8,400
& 2,520
Al 5,880
02 Z3=22H| 16,800 0 16,800
O&t=oM& Mzl Y==4d
16,800,000 * 14 16,800
= 8,400




S 20D
o SaNRA U NS(2HLBB/2I)
el SEEstize (crel: M)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
& 2,520
Al 5,880
()0l RIRMLZSEMN(EEZTH) 200,000 0 200,000
= 100,000
= 30,000
Al 70,000
207 AN 200,000 0 200,000
= 100,000
& 30,000
Al 70,000
01 ¢ ELH| 200,000 0 200,000
OxEx2E MY % B)IE= 9E Q ¥
200,000,000 14! 200,000
= 100,000
< 30,000
Al 70,000
=3t 2+FH| 2,796,000 3,812,500 /1,016,500
= 1,847,600
& 474,200
Al 474,200
(2)2INB 2SI UNES(HHIE2(AE) BE=xXE) 70,000 44,000 26,000
= 49,000
& 10,500
Al 10,500
401 AIEBIZL20HH] 70,000 44,000 26,000
= 49,000
& 10,500
Al 10,500
01 Al&HI 70,000 44,000 26,000
OF J1ES(Al2) &AIZ2(ZE &l “EIUR)
6,000,000 *14] 6,000
= 4,200
& 900
Al 900
OFA J|G@S(AE) AAZ2(ZE EEel SEILIR)
7,600,000&*14! 7,600
= 5,320
& 1,140
Al 1,140
OHAH JIES(A2) MAZ2(GE Héte| 2ELUR)
5,400,000 14 5,400
= 3,780
& 810
Al 810




M 230l
BE: S U MS(SHUVZ/SE)
&2 23 23| (chol: 221
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OYE t&EL LEIUR dXXIZ
15,000,000 14! 15,000
= 10,500
& 2,250
Al 2,250
OZZ EH&Eel LEIUR Ms8ZoHd
21,000,000 *14! 21,000
= 14,700
& 3,150
Al 3,150
OZE gitel 2R dH™XIZ
15,000,000 * 14 15,000
= 10,500
& 2,250
Al 2,250
(Z)DNESANES(E5 2UEA=2e e £8) 500,000 1,760,000 1,260,000
= 250,000
& 125,000
Al 125,000
401 AIEHIZL 2 CHY] 500,000 1,760,000 21,260,000
= 250,000
& 125,000
Al 125,000
01 Al&HI 500,000 1,760,000 21,260,000
Og= ZUHIAIZst el 120
240,000,000 3 * 14! 240,000
= 120,000
L= 60,000
Al 60,000
Og= 2 AL2s el EX0HE
260,000, 0002 14! 260,000
= 130,000
& 65,000
Al 65,000
(R ESSNE(PE0E M2 24) 328,000 0 328,000
= 229,600
& 49,200
Al 49,200
401 AIEHIZ 2 0HY| 328,000 0 328,000
= 229,600
& 49,200
Al 49,200
01 AlEHI 328,000 0 328,000
ORHE02 MAHel X1 NES Y
50,000,000 14! 50,000




S 20D
N Saed U NE(2HLBZ/2E)
Chel: 23 EFH| (CHl: X 21)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
= 35,000
& 7,500
Al 7,500
OR40ts M&AHel 2X EX e
278,000,000 *14! 278,000
= 194,600
& 41,700
Al 41,700
()2 SSUE(PAA Dei=Ss J2ad 9 200,000 200,000
JIEal)
= 140,000
& 30,000
Al 30,000
402 QIZtXHE0| A 200,000 200,000
= 140,000
& 30,000
Al 30,000
02 QIZIN AL B X (01X ) 200,000 200,000
ORAAN D= YA L JIEs
200,000,0002%14! 200,000
= 140,000
& 30,000
Al 30,000
()RS 2 HE (DS 2EOS Gl HEE =) 5,000 5,000
= 3,500
& 750
Al 750
401 AIEHIZL 2 CHY] 5,000 5,000
= 3,500
& 750
Al 750
01 Al&Hl 5,000 5,000
ORE0ts gl A& 2= AAEEN
5,000,000 *14! 5,000
= 3,500
& 750
Al 750
()RS 2SHE(GF REOIS SR IIs B=) 430,000 430,000
= 301,000
& 64,500
Al 64,500
401 AIEHIZL 2 CHY] 430,000 430,000
= 301,000




SA: 230D
MM 2L L NS (2FHLBR/235HH)
&el: 28 234 (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
< 64,500
Al 64,500
01 AI&ZHI 430,000 0 430,000
OR402 &2k s 24
430,000,000 * 14! 430,000
= 301,000
[ 64,500
Al 64,500
()2 Y2TNE S (D F LEOIS USE OIS 24) 335,000 0 335,000
= 234,500
< 50,250
Al 50,250
401 Al&EHI L2 335,000 0 335,000
= 234,500
[ 50,250
Al 50,250
01 AI&HI 335,000 0 335,000
OR40I2 &k I8 24
335,000,000 * 14! 335,000
= 234,500
[ 50,250
Al 50,250
()2 Y2NE R (G F LEOIS 94D IIS 24) 300,000 0 300,000
= 210,000
[ 45,000
Al 45,000
401 Al&HI 20| 300,000 0 300,000
= 210,000
[ 45,000
Al 45,000
01 AI&HI 300,000 0 300,000
OR402 atn i 24
300,000, 0002114 300,000
= 210,000
[ 45,000
Al 45,000
(V2O YRNER (D F SEOIS UBA IIS 22) 360,000 0 360,000
= 252,000
[ 54,000
Al 54,000
401 Al&H L2 0HY| 360,000 0 360,000
= 252,000




S 20D
o SaNRA U NS(2HLBB/2I)
o2 23 23] CEEEED
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
& 54,000
Al 54,000
01 Al&Hl 360,000 0 360,000
ORH0IE sk JI2 B
360,000,000 14! 360,000
= 252,000
= 54,000
Al 54,000
(DN FSSUMES(GF 24012 =I101Y 21D1) 220,000 0 220,000
= 154,000
& 33,000
Al 33,000
402 QIZHRE0| 220,000 0 220,000
= 154,000
< 33,000
Al 33,000
02 QIZFRHE2AIH S (OIETHE) 220,000 0 220,000
O=R40tg =101 D]
220,000,000&* 14! 220,000
= 154,000
& 33,000
Al 33,000
()2 E2SAMES(YF 2HWE 7 2Y) 48,000 0 48,000
= 24,000
& 12,000
Al 12,000
401 AIEHIZL20HY| 48,000 0 48,000
= 24,000
= 12,000
Al 12,000
01 Al&Hl 48,000 0 48,000
O%x 24Ws 7 2o UGN
48,000,000 14 48,000
= 24,000
= 12,000
Al 12,000
NIHR A BE2t2] 400,000 270,000 130,000
= 280,000
& 36,000
Al 84,000
(IMARLEEZR|(RLAM XEH XS E=) 250,000 0 250,000
= 175,000
& 22,500
Al 52,500
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